BORILLA oPORTS

MANUAL FOR PRESS BENCH

(10000118)




SHUORILLA oPORTS

~  PROFESSIONAL GYM EQUIPMENT FOR EVERYONE

D
] 112 cm

Maximum load: 200 kg




“@ﬁﬂﬂlllll SI’IIHTS

WWWWWWWW

mmmmmmmm




H > 7
Inside PAN-HEAN Bolt (¢10%65)—-2PCS
] |
- = )
T I,
| — Bolt (M10%67) —4PCS 7 I
| ’ =\ | 7 0
I 0 ! |
s AQV b
7, N | , 0
0 _ 0
ﬁ , Washer (#10) —8PCS Nut (M10) —4PCS H/j QL
| L o
f,L, JV wa% PAN-Hiqy




NV

Washer (#10) —-8PCS

|

— Bolt (M10%67)—-4PCS

©)

Nut (M10) —4PCS




N\

N

NMVVIVVIVVVIVVMI

] Bolt (M10%75)—1PCS

ORRe,

Washer (¢10) -4PCS Nut (M10) —2PCS

O

@side PAN-HEAN Bolt (#10%65)-1PCS




\M8%65 &

M8*65 P8

SOdE—(89) IoySej

-

SOdT- (0S*8I) 1109

L

:

SdE—-(G9%8IN) 1 10d




SOdZ—(01@) IoYUsejp
SOdZ—(L9*%0TI) 1109




Bolt (¢10%65)-1PCS

Inside PAN-HEAN

.
UT 0

" PULLO

I

//—‘

(G9%019) *310g
NVIH-NVd ©pTsul




